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The given sentence has been broken up into four 

different parts. The error, if any, will be in one or more 

parts of the sentence. Select the option which contains 

the part/parts of the sentence which has/have an error 

(spelling, grammatical or contextual). If there is no error, 

choose option E. 
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In his first speech since pleading (A)/ not guilty to 

34 felony counts, (B)/ former President Donald 

Trump railed against (C)/ the Manhattan district 

attorney and the indictment (D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error
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April’s full moon will not shine (A)/ pink tonight, 

despite (B)/ of its name, but the bright golden orb 

(C)/ could still offer a sight to behold (D)/ No 

error (E).

1. A

2. B

3. C

4. D

5. No error
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Experts have told the BBC that the (A)/ current 

Covid surges in China is (B)/ "unlikely" to impact 

India, but they (C)/ urged people to stay cautious 

and wear masks (D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error
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England is not ready for the unavoidable (A)/ 

impacts of global warming, (B)/ the government 

advisers on (C)/ climate change say in a new 

report (D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error
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Countries in the European Union has (A)/ 

approved a landmark law that will (B)/ ensure all 

new cars sold (C)/ from 2035 must have zero 

emissions (D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error
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In each question, a part of the sentence is given in 

bold. Below are given alternatives to bold part marked 

A, B, C, and D which may improve the sentence. 

Choose the correct alternative. In case no replacement 

is needed, mark E as your answer.
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Engineers have now developed miniature robots to 

patrol the pipe network, check for faults, and 

preventing leaks.

1. checks for faults, and preventing leaks

2. check for faults, and prevent leaks

3. checking for faults, and preventing leaks

4. checked for faults, and prevented leaks

5. No improvement is required.
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The US space agency Nasa has named the four 

astronauts whom will taken humanity back to the 

Moon, after a 50-year gap.

1. who will took humanity back to the Moon

2. whom will take humanity back to the Moon

3. whom will took humanity back to the Moon

4. who will take humanity back to the Moon

5. No improvement is required.
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British billionaire Sir Richard Branson's rocket company 

Virgin Orbit has filed for bankruptcy in the US after failing to 

secure new investment.

1. Sir Richard Branson rocket company Virgin Orbit has been 

filed

2. Sir Richard Branson's rocket company Virgin Orbit has 

filing

3. Sir Richard Branson rocket company Virgin Orbit has 

filing

4. Sir Richard Branson rocket company Virgin Orbit has filed

5. No improvement is required.
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Water companies could facing unlimited fines for 

dumping sewage over government plans due to be 

unveiled in the coming days.

1. could facing unlimited fines for dump sewage over

2. could face unlimited fines for dumping sewage 

under

3. could faced unlimited fines for dumping sewage 

under

4. could face unlimited fines for dumping sewage over

5. No improvement is required.
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In each of the following question, a sentence is given with 

three words marked as (A), (B) and (C). These words may 

or may not be placed at their correct places. Four option 

with different arrangement of these words are given. Mark 

the option with correct arrangement as your answer. If no 

arrangement is required then mark option (E) as your 

answer.
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As the nation impacts (A) the end of the Covid-19 public 

health emergency, new research is showing that some 

groups are still feeling (B) the long-term anticipates (C) of 

the disease.

1. CBA

2. BAC

3. CAB

4. BCA

5. No arrangement required
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The pandemic could have been the bail out (A) moment in 

the fight against climate change -- an opportunity for 

leaders to pivot (B) the environment and decisive (C) the 

planet toward a greener future.

1. CBA

2. BAC

3. ACB

4. CAB

5. No arrangement required
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Building Amsterdam’s North-South metro line was big 

trouble (A) – a budget-blowing 15-year operation that 

beneath (B) carefully burrowing involved (C) the 

foundations of centuries-old architecture.

1. CBA

2. BAC

3. ACB

4. CAB

5. No arrangement required
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Experts have told the BBC that the current Covid surge in 

China is "unlikely" to impact (A) India, but they urged (B) 

people to stay cautious (C) and wear masks.

1. CBA

2. BAC

3. ACB

4. CAB

5. No arrangement required
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In each of the questions given below, a sentence is given 

with two blanks. From the given options, choose the one 

that gives the correct combination of words that fit in the 

blanks.
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Hundreds of Google employees _________ a walkout at 

the company’s London offices on Tuesday, following a 

_________ over layoffs.

1. staged; dispute

2. produced; disagreement

3. published; argument

1. Only 1

2. Both 2 and 3    

3. Only 1 and 2

4. Both 1 and 3  

5. All 1, 2 and 3
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In January, Google’s parent company Alphabet 

___________ it was laying off 12,000 employees 

worldwide, __________ to 6% of its global workforce.

1. proclaimed; analogous

2. promulgated; tantamount

3. announced; equivalent

1. Only 1    

2. Both 2 and 3    

3. Only 1 and 2

4. Both 1 and 3  

5. All 1, 2 and 3
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Johnson & Johnson has _______ to pay almost $9bn to 

_______ tens of thousands of lawsuits it faces in North 

America that claim its baby powder and other talc-based 

products cause cancer.

1. scrambled; answer

2. proposed; resolve

3. intended; settle

1. Only 1    

2. Both 2 and 3       

3. Only 1 and 2

4. Both 1 and 3  

5. All 1, 2 and 3
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Everyone benefits when there is less air pollution, but it 

__________ more for older communities with high poverty 

rates and those where larger populations of Black people live, 

________ of income, a new study finds.

1. benefits; in spite

2. pays off; regardless

3. works; irrespective

1. Only 1    

2. Both 2 and 3    

3. Only 1 and 2

4. Both 1 and 3  

5. All 1, 2 and 3
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